(XOOOOOODOOOOODO gammareduction-qa071205.tex

Ooooooo Xooooooboooooooo

1.0000 L00bobobobobob Xboouooobo b OoOoooobooo
00000000 2000000 I(z)0 Ip,p,2000000 I(z) = lyexp(—pz)O

goo

2.00000 E=1MeVOOOOODOODO XO0OO0OODOOOOOO p=0.75cm™ 10
oboobboouobobbooob XoO0o 1oo0obboooboboouooouood

gobooboggd

(0o00)
1. DO0000dI(<0) 0002000000 0000000000 dz000D000
ooo0 O
—dl = pldx
dl
= T = —pdx
dl
T = /(—M)dﬂﬁ
=log, I = —px+ constant
= I(z) = Iyexp(—pzx).
2.0000 O
I(z) -3
— = 10
Iy
= exp(—pxr) = 1077
= ur = log,(10*) = 3log, 10 = 6.908
N 6.908
r = —
0.75cm~!

= 9.2 cm.




